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12.5

12.6

RULES FOR TESTING SEEDS

Conducting the test.

After the seed counter has been calibrated, test the pure seed portion from the purity test
and record the number of seeds in the sample.

Calculation of results.

Calculate the number of seeds per pound to the nearest whole number using the following
formula:

Number of seeds per pound = 453.6 g/lb x no. of seeds counted in d.
perp weight (g) of sample analyzed for purity

Tolerances for results from different laboratories.

Multiply the labeled seed count or first seed count test result by four percent for soybean
samples, two percent for corn (round, flat or plateless) samples, five percent for field
bean samples and three percent for wheat samples. Express the tolerance (the number of
seeds) to the nearest whole number. Consider the results of two tests in tolerance if the
difference, expressed as the number of seeds, is equal to or less than the tolerance.

Example:

Kind of seed: Corn
Label claim (1st test): 2275 seed/Ib.

Lab Test (2nd test):  Purity working weight = 500.3 g
Seed count of pure seed = 2479 seeds

453.6 g/lb x 2479 seeds
Number of seeds per pound = = 2247.6 seeds/Ib

5003 ¢

Rounded to the nearest whole number = 2248 seeds/Ib
Calculate tolerance value for corn:
multiply label claim by 2%
2275 seeds/Ib x 0.02 = 45.5 seeds/lb;
rounded to the nearest whole number = 46 seeds/Ib
Determine the difference between label claim and lab test:

2275 seeds/lb — 2248 seeds/Ib = 27 seeds/lb

The difference between the lab test (2nd test) and the label claim (1st test) is less than the tolerance
(27 < 46); therefore, the two results are in tolerance.
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